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You Know My Name
(Look Up The Number)

John Lennon and Paul McCartney.

#.Copyright 1967 and 1970 Northern Songs Limited. 19 Upper Brook Street, London W1.
All rights reserved. International copyright secured.

( Organ: Registration No. 1)

Moderately
G Bb+ Bm E7

| - w T

- |
élg 1 D s s, s o
! F F F F | l

A=

] o
r i

N,
S=Y
Ny

[:: 4
3

You know my name, look up the jnum- ber.
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Youknowmy name, look up the {num - ber. You, you know,_
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you, you know,__ you know my  name,

you know my name,
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Faster, with a Latin beat
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L.A. ‘ Spoken: Good evening and welcome to Slaggers [featuring Dennis O’ Dell
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Come on Ringo, Let’s hear it for Dennis.
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Repeat 3 times, using effeminate voices on 2nd and 3rd repeats
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’ Sing: Youknow my name, bet-ter look up my |num - ber.
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You knowmy name, (that’s right) lookup my [num - ber. You, you know__
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you know my name, you, you know,_ [youknow my name. you know my name.
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